
web:      www.timwstudio.com
email: timwstudio@gmail.com 
phone:          045 041 1205

TIM WILSON



This Chair was designed and 
built by Tim Wilson for his 
brand Hunchmark in 2018

It has since been exhibited 
in the Makers Take 3 
Exhibition, The Makers 
Take South East Creatives 
exhibition in colaboration 
with (BAD) Brisbane Art 
Design festival, as well 
as the Melany Wood Expo.

Through the process of 
carving with a chainsaw and 
grinder and then various 
sanding techniques, a very 
smooth but slightly uneven 
and asymmetrical surface is 
created which is so common 
for us to encounter in 
nature. The forms encompass 
animalistic  traits which 
invite the user to create 
a stronger bond with the 
chair as if it were a pet, 
so that it may be taken 
care of for generations.

The chair utilised waste 
timber which would have 
otherwise been burned 
for firewood to create a 
sustainable reading chair 
to last generations.

ANIMAL CHAIR

. 1



. 2

In 2017 Tim Wilson formed 
the group Makers Take 
with 5 other Gold Coast 
designers who had a shared 
aim of creating a platform 
to promote local furniture 
and homeware designers. 
These events brought the 
best local designers and 
makers to meet with the 
local community, helping 
to foster relationships 
and grow the local design 
scene.

The collective have gone 
on to create 4 successful 
exhibitions across the Gold 
Coast and Brisbane within 
the first 2 years.

Pictured left is the third 
event where Tim worked 
with the rest of the 
Makers Take team to design 
the exhibition layout and 
lighting suspension rig.

MAKERS TAKE



This Christmas Installation 
was commissioned by (HOTA) 
Home of the Arts Gold 
Coast for the Makers Take 
collective. Tim worked 
with the rest of the Makers 
Take team to design this 
concept and was in charge 
of the documentation, 
manufacturing and Project 
Coordination.

The concept here was to 
create a sense of place, 
that invites strangers 
amongst the community to 
share and interact through 
a playful furniture 
installation.

THE FORUM

. 3



. 4

This lighting range was 
designed and made by Tim 
for his brand Hunchmark in 
2018.

The shades are hand made 
by joining small strips of 
clay together around in a 
circle to slowly build the 
structure.

The pieces are made out of 
a black stoneware clay. As 
with most of the Hunchmark 
designs, these pieces are 
left with  the  textured 
clay surface without any 
glaze, which highlights 
the impressions left by 
the maker.

DARK LIGHT



These furniture pieces were 
designed in collaboration 
with Daniel Wilson Studio 
for the fit out of the new 
Prae store in Byron Bay.

Tim’s role was resolving 
design details and also 
fabricating the free 
standing tables, benches 
and shelves.

All the pieces are made 
from pine with concealed 
fixings and a natural wax-
oil finish.

PRAE STORE

. 5



Hunchmark is a brand of 
objects, designed by Tim 
Wilson. The pieces are a 
morph of design and art 
which are highly functional 
yet challenge the norm of 
current consumer goods and 
try to tell a visual story.

Almost all of the pieces 
are ceramic which are hand 
made by Tim. They are 
made with the pinch pot 
technique which leaves a 
slightly textured surface 
to create pieces embodied 
with integrity, using 
natural, local materials 
whenever possible.

HUNCHMARK

. 6



Tim was contracted to 
Alma Lighting to produce 
an economical spot light 
design for the 38 Series 
which utilises the variety 
of metal types which are 
available in the same 
Ø38mm size tube. Because 
of this  design, the light 
can be customized to have 
stainless steel, brass and 
copper finishes, as well as 
any range of powdercoat 
colours.

This design allows for 
a simple and refined 
adjustable spot light which 
is water tight and suitable 
for exterior uses.

Project is currently in 
prototype phase.

SPOT LIGHT

. 7



For this project Tim 
was contracted by Alma 
lighting to help resolve 
the fabrication details 
for this rectangular bar 
pendant with various light 
sources.

Tim liaised with the 
production managers to 
refine details and created 
a 3D model, technical 
drawings and CNC templates 
for cutting the custom 
components.

BAR PENDANT 

. 8

A5- COVER TUBE

B1- TOP HAT

B4- FB SCREW

B3- FLAT BAR

B5- C CHANEL

B8- JN SCREW

B6- FEMALE JACK

B9- RHS

B10- RIVET

B13- DIFFUSER

D2- TUBE ADAPTOR
B7- JACK NUT
C/W PACKER

PENDANT DETAIL
SCALE: 1:1

B14- ADAPTOR PLATE

B15- AP SCREW

Authorised for Construction:Material / Notes:

CONSTRUCTION DRAWINGS

Design: Project:

JANNALI HOTEL
Drawing Title:

LIGHTWORKS
71-77 Regent Street,
Redfern NSW 2013 AUS
Phone: (02)9690 0666
Email: adam@almalighting.com.au

TYPE PL3
ACKNOWLEDGMENTS:
ALL DIMENSIONS IN mm.
ALL DRAWINGS REMAIN
THE PROPERTY OF
LIGHTWORKS & MUST
NOT BE COPIED
WITHOUT CONSENT.

LIGHTWORKS © 2018

Checked:

N/A
PageNo.

Drawn:

Date:

Rev.

TW

26/06/2019

3

5

Authorised for Construction:Material / Notes:

CONSTRUCTION DRAWINGS

Design: Project:

JANNALI HOTEL
Drawing Title:

LIGHTWORKS
71-77 Regent Street,
Redfern NSW 2013 AUS
Phone: (02)9690 0666
Email: adam@almalighting.com.au

TYPE PL3
ACKNOWLEDGMENTS:
ALL DIMENSIONS IN mm.
ALL DRAWINGS REMAIN
THE PROPERTY OF
LIGHTWORKS & MUST
NOT BE COPIED
WITHOUT CONSENT.

LIGHTWORKS © 2018

Checked:

N/A
PageNo.

Drawn:

Date:

Rev.

TW

26/06/2019

3

PENDANT PERSPECTIVE
SCALE: 1:35

2

STRAIGHT LENGTH: 590mm

STRAIGHT LENGTH: 550mm

STRAIGHT LENGTH: 746mm

STRAIGHT LENGTH: 785mm

PERSPECTIVE

Authorised for Construction:Material / Notes:

CONSTRUCTION DRAWINGS

Design: Project:

JANNALI HOTEL
Drawing Title:

LIGHTWORKS
71-77 Regent Street,
Redfern NSW 2013 AUS
Phone: (02)9690 0666
Email: adam@almalighting.com.au

TYPE PL3
ACKNOWLEDGMENTS:
ALL DIMENSIONS IN mm.
ALL DRAWINGS REMAIN
THE PROPERTY OF
LIGHTWORKS & MUST
NOT BE COPIED
WITHOUT CONSENT.

LIGHTWORKS © 2018

Checked:

N/A
PageNo.

Drawn:

Date:

Rev.

TW

26/06/2019

3

CORNER WELD DETAIL
SCALE: 1:2

40.00

100.00

22.00

144.003.00 3.00

3.00

2.00

77.50

3.00

83.50

150.00

FRONT

TOP

PENDANT CORNER
SCALE: 1:5

10
0.

00
99.00

R500.00 OD

R350.00 ID

40
.0

0
43

.5
0

R375.00 ID

R475.00 OD

10



Whilst employed at Yellow 
Goat Design, one of the 
major projects Tim worked 
on was the play animals 
series. 

Tim’s role on this series 
consisted of liaising with 
the production and design 
managers  to solve the 
technical difficulties in 
fabricating these large 
scale play animals. Tim 
created 3D CAD models of 
the animals, slicing them 
into hundreds of pieces 
of plywood which were cut 
on a CNC router to then 
be laminated together to 
create the complex shapes. 

PLAY ANIMALS

. 9

Dwg No: NCH-PCHFFE-AL-SPD-0795
Rev: 0

PERTH CHILDRENS HOSPITAL
Wetlands with Whale Shark

Revisions Table

REV AMENDMENT
A ISSUE FOR APPROVAL
B REVISION
C REVISION
D REVISION
0 CONSTRUCTION -IN HOUSE DRAWING ONLY

YGD Contact: CJ

Parts List
ASSEMBLY ITEM QTY Material Notes/ Finish

JETTY A-H REFER TO WETLANDS DRAWING FOR JETTY

WHALE SHARK
HEAD

I1 1 REMOVABLE NOSE -23 LAYERS OF 18mm BIRCH PLYWOOD LAMINATED TOGETHER. C/W Ø5.7mm DOWEL HOLES & Ø6mm
DOWELS

CLEAR COATED W/ PAINTED SPOTS.
LAYERS: (A1-A23)

I2 1 HEAD -44 LAYERS OF 18mm BIRCH PLYWOOD LAMINATED TOGETHER. C/W Ø5.7mm DOWEL HOLES & Ø6mm DOWELS
CLEAR COATED W/ PAINTED SPOTS.
LAYERS: (A24-A68)

I3 2 SET OF M10 x 490mm THREADED RODS C/W 3 OF M10 NUTS & WASHERS -TO JOIN REMOVABLE NOSE SECTION
I4 2 4mm x 45mm x 150mm x 45mm (P) MILD STEEL CUSTOM ANGLE BRACKET C/W SUITABLE BOLTS AND GRUB SCREW

WHALE SHARK
NECK

J1 1 50 LAYERS OF 18mm BIRCH PLYWOOD LAMINATED TOGETHER. C/W Ø5.7mm DOWEL HOLES & Ø6mm DOWELS
CLEAR COATED W/ PAINTED SPOTS.
LAYERS: (B69-B119)

J2 7 M10 x 85mm BOLTS C/W M10 NUT & WASHERS
J3 2 4mm x 45mm x 150mm x 45mm (P) MILD STEEL CUSTOM ANGLE BRACKET C/W SUITABLE BOLTS AND GRUB SCREW

WHALE SHARK
BODY

K1 1 86 LAYERS OF 18mm BIRCH PLYWOOD LAMINATED TOGETHER. C/W Ø5.7mm DOWEL HOLES & Ø6mm DOWELS
CLEAR COATED W/ PAINTED SPOTS.
LAYERS: (C120-C206)

K2 7 M10 x 85mm BOLTS C/W M10 NUT & WASHERS
K3 2 4mm x 45mm x 150mm x 45mm (P) MILD STEEL CUSTOM ANGLE BRACKET C/W SUITABLE BOLTS AND GRUB SCREW

WHALE SHARK
TAIL

L1 1 86 LAYERS OF 18mm BIRCH PLYWOOD LAMINATED TOGETHER. C/W Ø5.7mm DOWEL HOLES & Ø6mm DOWELS
CLEAR COATED W/ PAINTED SPOTS.
LAYERS: (D207-D296)

L2 4 M10 x 85mm BOLTS C/W M10 NUT & WASHERS
L3 2 4mm x 45mm x 150mm x 45mm (P) MILD STEEL CUSTOM ANGLE BRACKET C/W SUITABLE BOLTS AND GRUB SCREW

L4 1 10mm (P) MILD STEEL TAIL FIN SUPPORT WELDED TOGETHER. C/W SUITABLE SCREWS INTO TAIL

WHALE SHARK
BASE PLATE

M1 1 3 LAYERS OF 18mm BIRCH PLYWOOD LAMINATED TOGETHER OFFSET 20mm FROM OUTLINE OF WHALE
M2 1 SET OF M10 THREADED RODS C/W 2 OF M10 NUTS & WASHERS. VARIOUS SIZES -REFER TABLE

Yellow Goat
Design P/L

PROJECT NO. FORMAT

NCH-PCHFFE-AL-SPD-0795 A4

© ALL DRAWINGS REMAIN THE PROPERTY OF YELLOW GOAT DESIGN
COMPANY & MUST NOT BE COPIED WITHOUT WRITTEN CONSENT.
ACKNOWLEDGMENTS:
ALL DIMENSIONS IN mm. UNLESS OTHERWISE STATED.
LINEAR & ANGULAR TOLERANCES AS SPECIFIED. DO
NOT SCALE FROM DRAWINGS.

DATE PAGE NO.
Apr-17

SCALE: DRAWN
AS SHOWN CJ, TW

PROJECT

PERTH CHILDRENS HOSPITAL
Wetlands with Whale Shark

31 OLYMPIC CIRCUIT
SOUTHPORT QLD 4215
AUSTRALIA
ph: +61 (7) 5532 8659
email: sales@yellowgoat.com.au
www.yellowgoat.com.au

A ISSUED FOR REVIEW CJ16-12-2016

0
REVISION

REV BYSTATUS DATE

B ISSUED FOR REVIEW CJ30-01-2017

ISSUED FOR REVIEWC CJ15-02-2017

ISSUED FOR REVIEWD KA21-02-2017

CONSTRUCTION0 TW05-04-2017

BUILT IN THIS DIRECTION
LABELS TO FACE HEAD UNLESS NOTED: FLIP

WHALE SHARK SECTION
NOT TO SCALE

ADD [L4] STEEL PLATE AT LAYER: D271
& SCREW TO WHALE FROM UNDERNEATH

[L2] BOLTS FOR JOINING
SECTIONS

D296 - D207 C206 - C120 B119 - B69 A68 - A24 A23 - A1

[I3] BOLTS FOR FIXING NOSE SECTION
THROUGH HOLES IN MOUTH

[K3] ANGLE BRACKET

[I1] REMOVABLE NOSE

[I] HEAD IN 2 SECTIONS

NO SCREWS TO BE USED ON OUTER PIECES AS
THEY MAY COME THROUGH WITH SANDING

LAYER: B114 HAS
MULTIPLE PIECES

4



Another project Tim handled 
while working at Yellow 
Goat, was the lighting 
installation at the Collins 
Street Shopping Centre in 
Melbourne.

Tim worked with the design 
from the Architects and 
created technical drawings 
which consisted of 80 
pages. Tim devised a table 
system which had codes for 
each of the 5000 tubes to 
indicate the correct shade 
of green, the location and 
the drop height.

COLLINS ST

. 10

Yellow Goat
Design P/L

PROJECT NO. FORMAT

YG10285 A4

© ALL DRAWINGS REMAIN THE PROPERTY OF YELLOW GOAT DESIGN
COMPANY & MUST NOT BE COPIED WITHOUT WRITTEN CONSENT.
ACKNOWLEDGMENTS:
ALL DIMENSIONS IN mm. UNLESS OTHERWISE STATED.
LINEAR & ANGULAR TOLERANCES AS SPECIFIED. DO
NOT SCALE FROM DRAWINGS.

DATE PAGE NO.
NOV-15

SCALE: DRAWN
AS SHOWN TW

ISSUE AMENDMENT DATE
PROJECT

AUSTRALIA ON COLLINS
Custom Tube Ceiling Fixture

31 OLYMPIC CIRCUIT
SOUTHPORT QLD 4215
AUSTRALIA
ph: +61 (7) 5532 8659
email: sales@yellowgoat.com.au
www.yellowgoat.com.au

A       PRELIMINARY    12-10-2015

B   FOR APPROVAL    26-11-2015

C   FOR APPROVAL    30-11-2015

1   CONSTRUCTION    05-04-2015

L1-2

L1-3

L1-41-1

1-2

1-3

1-4

30

100

22

MULTIPLE LIGHT DROP DETAIL
NTS

NOTE: INDICATIVE VIEW

17

Yellow Goat
Design P/L

PROJECT NO. FORMAT

YG10285 A4

© ALL DRAWINGS REMAIN THE PROPERTY OF YELLOW GOAT DESIGN
COMPANY & MUST NOT BE COPIED WITHOUT WRITTEN CONSENT.
ACKNOWLEDGMENTS:
ALL DIMENSIONS IN mm. UNLESS OTHERWISE STATED.
LINEAR & ANGULAR TOLERANCES AS SPECIFIED. DO
NOT SCALE FROM DRAWINGS.

DATE PAGE NO.
NOV-15

SCALE: DRAWN
AS SHOWN TW

ISSUE AMENDMENT DATE
PROJECT

AUSTRALIA ON COLLINS
Custom Tube Ceiling Fixture

31 OLYMPIC CIRCUIT
SOUTHPORT QLD 4215
AUSTRALIA
ph: +61 (7) 5532 8659
email: sales@yellowgoat.com.au
www.yellowgoat.com.au

A       PRELIMINARY    12-10-2015

B   FOR APPROVAL    26-11-2015

C   FOR APPROVAL    30-11-2015

1   CONSTRUCTION    05-04-2015

ELEVATION
SCALE 1:200

-INDICATIVE VIEW. SUSPENSION
WIRES NOT SHOWN

500

20123

LEVEL 5
RL127.080

LEVEL 4
RL124.280

G_COLLINS ST
RL107.240

LEVEL 3
RL120.280

LEVEL 2
RL116.280

LEVEL 1
RL112.680

6

NOTE:

-CLIENT TO CONFIRM MAX DROP HEIGHT / LOWEST RL

-CLIENT TO CONFIRM STAIRCASE LOCATION & CONFIRM
THAT CONTOUR PLAN DOES NOT INTERFERE WITH SUCH

-CLIENT TO EXAMINE RELATIONSHIP BETWEEN
HANDRAIL & TUBES TO ENSURE TUBES ARE NOT
ACCESSIBLE BY PUBLIC.

G HG1 H3 J KJ1 K1FE3 F1 F3E2

7



. 11

Tim has long been an 
artist in his spare time, 
but has recently ventured 
into making large concrete 
sculptures.

For this process Tim had 
to research lightweight 
concrete fabrication 
techniques to create 
a suitable method for 
creating these abstract 
shapes.

After a small maquette was 
finalised, a wire mesh frame 
was bent into shape and 
steel bar tied in for extra 
support. Then a unique 
concrete mix was developed 
to prevent slumping. This 
was mixed in small batches 
to be pressed and rendered 
over the frame, with 
multiple coats to achieve 
a smooth finish.

S C U L P T U R E


